UG/2nd Sem/G/20(CBCS)
2020

ZOOLOGY (General)
Paper : ZOOG-DC-2/GE-2-T
(CBCS)
Full Marks : 25 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A

(Comparative Anatomy)

1. Attempt any four questions from the following : Yax4=12
(a) Write the main function of Canine.
(b) Write one function of air-sacs in birds.
(c) What is the functional unit of kidney ?
(d) Write name of a respiratory pigment.
(e) Mention the function of Flame cell.
(f) What is preen gland in bird ?

2. Attempt any one question from the following : 2ox1=2Y2
(a) Write a short note on swim bladder.

(b) Differentiate between Protostomia and Deuterostomia.

3. Answer any two questions from the following : 4x2=8
(a) Draw and describe the structure of a hair.

(b) State the functions of integument.
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(¢) How many types of feather does a bird have? Explain.
(d) Give a brief account of gills.
Group - B
(Developmental Biology of Vertebrates)
1. Attempt any four questions from the following : Vax4 =2
(a) What is blastocoel ?
(b) How many types of eggs are there based on the amount of yolk present ?
(¢) Where does spermatogenesis take place in human male ?
(d) How many types of extra-embryonic membranes are present ?
() What type of fertilization occurs in Sea Urchin ?

(f) Give one example of Morphogen.

2. Attempt any one question from the following : 2x1=2Y
(a) Give an idea about different types of Placenta.

(b) Write a short note on fast block to polyspermy.

3. Answer any fwo questions from the following : 4x2=8
(a) Describe the typical structure of a spermatozoon with diagram.
(b) Write the functions of Yolk sac and Allantois.
(¢) Why cell death is important ?

(d) How does the retina develop ?
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